Accessory list for this page.

Install the servo of float

4X25mm screw  3.2mm Nylon Collar = 3.5X50 mm Pvc tube

Em ----16 @ ______ 9 e ----4
4m Bind nut 3.2mm Collar Rod adjuster

-------- & (% . » == -4
4mm Washer 3.2mm Rocker 1800mm Steel wire
@ -------- 16 a2~ -4

4X16mm screw Rod

4 ----4

Nz PR S T
4mm Lock nut 2X8mm screw Aluminium tube
B - 19 (2 oo 4 (V) ----8
3X20mm Tp screw 3X20mm screw 3mm Washer
(pzzzr - ------ 20 ([m ________ 8 @ ________ 16
2.3X10mm  Tpscrew 3mm nut 9mm plywood
s> R O 8 oo --mm---- 2

3.2mm Nylon Collar 3.2mm Rocker

3.5X50mmPvc tube  9mm plywood

@ - PR : I S 2
3.2mm Collar 3X3mm Screw Rod adjuster Rod
...... PR\ [ = -4 ----4

3X20mm Tpscrew  2X8mm screw 1800mm Steel wire Aluminium tube

(e - - - - 8 (zm . 4 —~_ -4 @O ----8

you should install the float to fly
the plane on water.

Install the float

4X25mm screw

fzzzzz  ----8

4mm Bind nut

@ -------- 8

— e i

2.3X10mm  Tp screw L

4X25mm screw

R R
5

3 The wing support's install method
while installing float.

ez ----8 @ ________ 8
4X16mm  screw 4mm Lock nut
Wzzm  ----12 O -------- 12

ﬁ-

)X‘IH-
|

P

3X20mm screw




	页 1

